1019 A% x, yol thatel, (x+y)a® + (x= )b = 4x+y7H 4
W, a2 + 52 g2
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(@®+b)x+ (a®>-b)y=4x+y
a?+b=4---0,a*-b=1---Q
3
@, @M a®=3, b=
19
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2.

99 x 101 x (1002 4 100 4 1) x (1002 - 100 4 1) = AAF5}H?

@1006—1 @ 100° +1 ® 100° -1
@ 100 41 ®1

S5
100 = a 2 |3 517
(F4) =(@-1)(a+1)(a® +a+1)(a®-a+1)
=(a*-1) (a* +1)
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a®+b®+c3 = pla+b+c)®+ q(ab + be + ca) + rabe | A
a, b, coll izt &54loln=
a=1b=0,c=0:1=p--- ©
a=1,b=1,c=0:2=2p+2q --- @
a=1,b=1,c=1:3=2Tp+9+r--- ®

@, Q,0NA p=1,49g=0, r=-24

“ptqgt+r=-23




5. oA X 4ax-82 % +4x+ b E Use UM A7} 3x 4 40tk A
a, b & F5HA?

@a:—l(),b:3 @ a=10,b=3
® a=-10, b=-3 @ a=17,b=3

® a=-5b=4

S5 )
5S x+ o E04H

¥ tax-8=(x>+4x+b)(x+c)+3x+4

o|AFO A c+4 =004 ¢c= -4

A5t i be+4=-894b=3

UG A4t de+b+3=a%lA a=-10




6. xol T FTA (22 +x+1)% = ajo(x+1)104ag(x+1)2+- - +ay (x+
1) +ao A ap +ar + -+~ + ag + aro & G427

Do @1 ® 16 @ 32 ® 64

Zol71 Ao x = 02 HeIsHA
(0+0+1)° =aig+ag+-++ai+ao
“agta,+---+ag+ag=1




